ПРИЛОЖЕНИЕ 1

Соедините линиями условие примера с соответствующим ему правильным ответом:




Соедините линиями условие примера с соответствующим ему правильным ответом:




А)  а – в – с








1) а +(в – с)





Б) –а + в – с








2) а – (в + с) 








Г)  – а  – в – с 








В)  а – в + с 








3) а – (в – с)





4) – (а – в) – с 








5) – а + (– в – с)





Д)  а + в – с 








А)  а – в – с








1) а +(в – с)





Б) –а + в – с








2) а – (в + с) 








Д)  а + в – с 








Г)  – а  – в – с 








В)  а – в + с 








3) а – (в – с)





4) – (а – в) – с 








5) – а + (– в – с)








